MATLAB

, 0.02
Fs=32768 % 32768
t=0:1/Fs:0.02 % 0.02s
y1=sin(2*pi*770*t); %yl
plot(t,y1);
AXIS([00.02-1.11.1]); % xMin xMax yMin yMax
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Fs=32768 % 32768
t=0:1/Fs:0.02 % 0.02s
yl=sin(2*pi*1336*t); %yl

plot(t,y1);
AXIS([00.02-1.11.1]); %

xMin xMax yMin yMax

0.02



0.8

0.6

0.2

-0.2

041

-0.6 -

-0.8

L
0 0.002

Fs=32768
t=0:1/Fs:0.02
yl=sin(2*pi*770*t); %yl

[
0.004

%

y2=sin(2*pi*1336*t); %yl

y=(y1+y2)/2;
plot(ty);
AXIS([00.02 -1.1 1.1]);
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Fs=32768 % 32768
t=0:1/Fs:2 % 2s
y1=sin(2*pi*770*t); %yl
y2=sin(2*pi*1336*t); %yl

y=(yl+y2)/2; %
sound(yl,Fs); % 1
pause; %
sound(y2,Fs); % 2
pause; %
sound(y,Fs); %

MATLAB
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